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Total marks — 25

Attempt ALL questions

	 1.	 The difference between the first ionisation energies of sodium and chlorine is mainly due to 
the difference in the

A	 number of electrons

B	 number of neutrons

C	 number of protons

D	 mass of each atom.

	 2.	 Which line in the table is likely to be correct for the element francium?

State at 30 °C Covalent radii 
(pm)

A solid less than 238

B liquid less than 238

C solid greater than 238

D liquid greater than 238

	 3.	 Which of the following contains pure covalent bonds?

A	 CO2

B	 H2S

C	 PH3

D	 CF4

	 4.	 Iodide ions can be oxidised using acidified potassium permanganate solution.

The equations are

	 2I-(aq)	 ↓  I2(aq)  +  2e-

	 MnO4
-(aq)  +  8H+(aq)  +  5e-	 ↓  Mn2+(aq)  +  4H2O(ℓ)

How many moles of iodide ions are oxidised by one mole of permanganate ions?

A	 1

B	 2

C	 5

D	 10


